


BAH
3,500

3,000

2,500

2,000

1,500

1,000

500

R LA DR

2,038 3,047
2,827 o 278 2,79 e [ |19
189 | — w1 | 284
LTw 98 | . 299 )
114 A
109 304
. 313 B "
- 391
988 983
. 1,030

5 E

18

20

0% O

Omfzld 2#
OREES&ER
oA TR
BiE A TR



BAH

H AT DT
7,818
8,000
o 7,005 7,232
6,500
OEgES Bl By
0 I3 19
S
- o0 B T8
3,500
2,000
15 16 17 18 19 20
I



B TERSFOEE %78 BeE

B.4H =5
60,000 e
3,086
55000 e
'\o\ 2,867 | 3 00
50,000 \ :
45,000 2,451 2,403
" \\ 2,292 12,500
40,000 \ —~—
R \ LU0 2,000 TOHERS
—B— {78
30,000 1.569 4 ggg RiTH
—— (45528
1,218 1,299 1 1500
25000 ,
™ | e 1,008
20,000 -{RgBRRON— n n = < -
£ 00 24,250 S [ 1,000
’ 23,835
23,062
10,000 1 | | | 1 92,465 [ 7 500
21,639
5.000 H - - o | | |
0 ' ' ' : ' 0
15 16 17 18 9 20
F R



BEAHA

10,000

3,000

&,000

7,000

6,000

5,000

4,000

3,000

2,000

1,000

EHIEBOER
8,820 8,843
. 8,392
‘\\.\ ?,?84 ?,686
) — 1.5
3,088 3,045 ‘
7,867 —
7,403 2,292 2,210
=) ] [ | oo
a =TT - || D#ME
1,750 :
Uikt 1,772 1,774 . | "R
15 16 17 18 19 20
E E



BAH REPREDHE

3,000
7,657
4
2,500 -
B34 \
\ 2,081
\ 1,892 —
2,000 ! " l\
s £ 3 1,786
\ n 332 | % 1.701 690 |
\ \\ 090 A P
N , R e e g OEE - EE
| \ / | 27 -
1,500 " y 120 7 SERLE
1,258 F1E \-._\ v OifEh= &
F99
550 F24
1,000
500
0
15 16 17 = 1%18 19 20



RRlZETELE - EEDH LT OER
BARH

3,000

2,500

2,000 T D

LEAE
DEEL
DT st
Ok E £
0423
DE &3

1,500

1,000

500




700

600

500

400

300

200

100

EER)

693 676
663 (5
h93 -
‘i—N___‘
87 045 W
. 2 iy
B e—

—— A
7l
—— i
—~—QELRS



